( Mixed addition and subtraction )

Circle the correct answers

thirty twenty-eight
37 + 3 = | 30 - 2 =
forty twenty-six
thirty-nine Sixty
45 - 6 = 42 + 8 =
forty-nine i fifty
twenty-three sixty-five
19 + 3 = 70 - 5 =
twenty-two sixty-six
thirty-seven eighty
40 - 3 = E 82 + 8 =
thirty-six | ninety
sixty seventeen
65 + 5 = 20 - 3 =
seventy E sixteen
fifty-one thirty-nine
60 - 9 = 5 33 + 5 =
fifty-two | thirty-eight
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Mixed addition and subtraction

Circle the correct answers

45

2 + 8=

19

40

65

seventeen

sixteen

60

70 - 5 =
82 + 8 =
thirty-six
sixty
20 - 3 =
33 + 5 =

fifty-two

thirty-nine

thirty-eight
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